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R4.12.5| 2 |EBHEEE (1284 55,000 50| 27,500 0 0 0 0 o| 27.500 0 0
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lRa.12.5] 4 BEEnRnmAAc2 B 18 23,100 50} 11,550 0 0 0 0 0 0 0] 11.550]
RE1217| 6 [EEHE Y —2¥ (1284) 33,696 501 16.848] 16.848 0 0 0 0 0 0 0
imz.m.m 6 |EBARBARGER MMy R 761 50 asof 0 0 0 0 0 0 380 0
frs. 12.18] 7 RERRBAR (D7 I LRA Y F) 990 50 495 0 0 0 0 0 0 495 0
R&.12.19| 8 |REESHAR(Z7 Ky R) 2,310] 50| 1.155 0 0 0 0 0 ol 1.155 of
Re.12.24) 9 |$MIBKGEE (BIEIEB) (1284) 3,500 100] 3,500 0 0 0 ol 3500 0 0 0
Re.12.27] 10 (EFRARNEESE (LBA%TMD) (1254 1,887{ 100] 1, 887 0 0 0 ol 1.887 0 0 0
R4.12.27) 11 [$FEAMEEERE (LASAFED (12B4) 930[ 100| 930] 0 0 0 0 930 0 0 °I
Re12.27| 12 |HBERHS QRMBSTER 10/2763) 2,700 100] 2.700] 2 700 0 0 0 0 0 0 of
R4.12.27] 123 |HHBERHE (SRPELTER  10/288088) 2,580F 100] 2.580] 2. 580 0 0 ] 0 0 0 0
R412.27) 14 |EREESES (1/4REFRS) 780| 100 780 780 0 0 0 0 0 0 0
RA12.27] 15 [HHHEBHE 1/ RNEEES (K2#E) ) 3,170 t00] 3.170] 3.170 0 0 0 0 0 0 0
RA12.271 16 |FHEBES M/I02EREXT TS (AR ) 3,1701 100 3.170‘ 3,170 0 0 0 0 0 0 0
Re12.27] 17 [HHEBRS (111 TENRERHER) 1.200 100 1,200] 1,200] 0 of o 0 0 0 of
R4.12.20] 19 |4 v & —% v FRUI2AS) 7.856| 50| 3,928 0 0 0 0 0 o] 3.928 ol
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R4.12.29] 20 ISwkIrAN) 10,300 5061 5, 1501 0 0 0 0 0 0 0 0 5,150 0
' 0 0 0 0 0| . 0 0 0 0 0 0
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R5.1.4| 1 |EBFESBIESL) 55,000 50| 27,500 0 0 0 0 0 of 27,500 0 0
RE.1.4| 2 |mmOmEEM (AEEED (1284 3., 400 wol 3, 400 0 0 0 0 o| 3,400 0 0 oi
R5. 1.5 3 |Bsmwemarcs @ o255 25.300 so| 12,650 0 0 0 0 0 0 0 0 12.650'
R5.1.5| 4 |EmEwwumnsAsx (il o284 25,300 500 12,650 0 0 0 0 0 0 0 0 12.650'
Rs.1.6| 5 ﬁig)@ﬁmmﬁﬁiﬂﬁ’“ BRELIFZET | 7 000| 100] 7,000} 7, 000 0 0 0 0 0 0 0 0
fo.1.10f ¢ [FEDERREBRESAR HELIFRAT | 14 000 100 14.oooi 14,000 0 0 0 0 0 0 0 0
RE.1.16] 7 |EME v —F LEERE (R4, 105 ~1284) 8. 400| 100] . 400| 0 0 0 0 o| 8 400 0 0 0
Re. 18| 8. |MBEY—BOAS) 33,606 50| 16, 848| 16,848 0 0 0 0 0 0 0 0
|R5.1.20 9 ﬁgﬁﬁaml*(’m’”mﬂ'""7"‘*"”’"_ 3,311 50| 1,655 0 0 0 0 0 o| 1,655 0
|55.1.27 10 &I ALMEIRI(2 0 0 04 25542 s0| 12,771 0 0 0 0 0 0 o| 12,771 0
|R5.1.27 11 |amEmm a4, 1.887| 100 1,887 0 0 0 0 o|l 1.887 0 0 0
AU I (12/3%3.530 12/13%3. 541 12/16¥
IR5.1.27 R R A AL S 18,427 so| o.213] 9,213 0 0 0 0 0 0 0 0
|R5.1.27 13 |SuEBES (11/28% 754 b4 3@ 2.750| 100] 2 750] 2. 750 0 0 0 0 0 0 0 0
IR5.1.27 14 [EuEmse (2148 54 5 RBETEK) 70| 100 780 780 0 0 0 0 0 0 0 0
IR5.1.27 15 [HHEEES(12/15 BERKERD) 780! 100 7ao| 780 0 0 0 0 0 0 0 0
|R5.1.2? 16 |SREBES(12/23 125HMa 7 E 1m) 780| 100 7so| 780 0 0 0 0 0 0 0 0
|R5.1.28 17 [y GEER) (89 a.500] 100] 3. 500] 0 0 0 0 ol 3500 0 0 0
IR5.1.30 18 |SHEAMAR (G2 > —LKPC-E112-100 2§%) 8.076| so| 4,488 0 0 0 0 0 0 o| 4 as8 o|
IR5.I.30 19 |42 8—%y MEAAS) 8.137| sol 4,068 0 0 0 0 0 0 of 4 068 0
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R6.1.31| 20 |BH¥ARBAREPSONA o Hh— 1) v 5, 801 50 2, 800 0 0 0 0 0 ¢ 2,900 0
0 0 0 0 0 0 0 0 0
0 1] 0 0 0 0 0 0 0
188t 252, 767 148, 020] 52, 151 0 0 0| 17,187 27,500] 25,882] 25,300
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[ps.1.17) Eﬁf‘: GHERSHIRT, 5207 x 2) (0.4 5 CR20 | g oal 100 3.040] 3,080 0 0 0 0 0 of o 0 of
RS.1.31| 2 |#7PAfeEEH (WFE#HE) (1AM 3,4000 100] 3, 400' 0 0 0 0 0 0] 3,400 0 0 0|
R5.2.11 3 |EHBFAEHEMCAD) b5,000| 50] 27, 500| 0 0 0 0 0 0 0] 27,500 0 OI
R6.2.1| 4 i&ﬁﬁﬁ]ﬁﬂﬁmﬁ)\ﬁ‘i- (1R43) 38,500 50] 19, 250' 0 Y 0 0 0 0 0 0 0] 19,250
R5.2. 1| b |B¥SEETEEIGES AR -(Tﬁ ) 35,200 50F 17,600 0 0 0 0 0 0 0 0 0f 17,600
R5.2.7] 6 |BAH (FEHIZELEMEER~ A% 1,500 TOOI 71,5000 7, 500 0 0 0 0 0 0 0 0 0
R5.2.17] 7 |BEBE)~-XH2A) 33, 696 50| 16, 848] 16, 848 0 0 0 0 0 0 0 0 0
R.2.27| 8 [Hvu&0/7, 1713, 1/18, 1/28, 1/31) . 17,106 50| 8, 553 8,553 0 0 0 0 0 0 0 0 0
R5.2.27| 9 |HHHEMEHEE(1/6 420M. 390M) 810 100' 810 810 0 0 0| 0 0 0 0 0 0
R5.2.27] 10 |HHEREHE(1/9 390M) 390 100 390 390 0 0 0 0 0 0 0 0 0
IR5. 2.27] 11 |HHEREE 0/ 420, 390MA) 8101 100 810 810 0 0 0 0 0 ¢ 0 0 0
IR5. 2,27 12 (HHEREE0/13 £E780M) 780 100 780 780 0 0 0 0 0 0 0 0 0
: IR5.2.28 13 |HYy (LEaS—HYur12. 740 2,000 50 1.000] 1,000 0 0 0 0 0 0 0 0 0
|R5. 2.28| 14 |[LASAFIEQAS) 930( 100 930 0 0 0 0 0 0 930 0 0 0
IR5. 2.28] 15 |¥RARREEF (FABHR) 284 3,600y 100§ 3,500 00 ¢ 0 0 0 0y 3.500( 0 0 0
[fs.2.26] 16 |moammmn cmmwm) A 3.400] 100] 3.400 0 0 o o 0 of 3.400 0 0 0
|R5. 1.3 17 |LASAFEAASR) 9301 100 930 0 0 0 0 0 0 930 0 0 0
0 0 0 0 0 0 0 0 0 0 0
2Rt 206, 992 116, 241] 39,731 0 0 0 0 0 12,160 27,500 0| 36,850
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R5. 3. 2‘ 1 |2BAFEM AR 1,887 100 1, 387. 0 0 0 0 0 1, 887 0 0 0
Rs.3.4|. 2 [EBEmwaRAALE (Jeas 23,100| 50f 11,550|. 0 0 0 0 0 0 0 o| 11.550]
R5.3.4| 3 |HBEEDHEIRS AR (- (ZA%) 29 7001 50} 14.850] 0 0 0 0 0 ¢ 0 0| 14, 850'
R5.3.71 4 |04 CHEEH(2023-4A4) 325 100 325 0 0 0 0 0 325 0 0 0
RS.3.7| 5 |4 v&—ay FEQRAS) 7. 715 50 3, 857 0 0 0 0 (¢] 0 0 3. 857 0
R5.3.13] 6 |EHFAASSENR (REREH A3, 500%) 136, 620| 098] 133, 887 0 0 0 0 0 0 0] 133, 887 0
R5.3.6] 7 [RB3RSHEEM (ARibisitsE 13, 151:8) 749, 607 98] 734, 614 0 0 134,614 0 0 0 0 0 0
R5.3. 14| 8 |(EHBEHMERNE (EITEER 1604) 13,356| 98] 13,088 0 0 13,088 0 0 0 ¢ 0 0
R5.3.15| 9 |BEER&SHEERIR (2023FF 5 15, 00056) 320, 430] 98] 314, 021 0 0 314, 021 ¢ 0 0 0 0 0
R5.3.18] 10 |EHBNEY—ZAHBEM 33,696 50} 16.848] 16,848 0 0 0 ¢ . 0 0 0 ]
IR5. 3.13] 11 |EHEFREHEEGAS) 55,0001 501 27,500 0 0 0 0 0 0| 27,500 0 0
|R5.3. 23| 12 M3 —3vy FME@ES) 7.768] 501 3,884 0 ¢ 0 0 0 0 0 3,884 0
|R5. 3.15| 13 [RBEMBSEHUERCRIEREM (202311 ) 56 335 100} 66, 330 0 0 0 0 0 0 o| 66 330 0

~2023/3/31) l
IR5. 3.27| 14 |&FrifZEc® (2/6ETCZAEEI90M) 390| 100 390' 390 0 0 0 0 0 0 0 0
IR5. 3.27] 15 |EBFFAE®(2/7 ETCHIR4A20M. AR FEINOM) 810] 100 810 810 0 0 0 0 0 0 0 0
HU w£2/8 3607M. 2/14 4001M, 2/20 . i

R5.3.27] 16 3825M . 2/25 3675F1) 15,108] 50 7,554 7.554 0 0 0 0 0 0 0 0
IRS. 3.27] 17 |GEESH (BEHM GAM 3,500 100 3. 500 ¢ 0 0 0 ¢ 3, 500 0 0 0
|R5. 3.271 18 |[LASAFEGSED) 930 100' 930 0 0 0 ] 0 930 0 0 0
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IrR5.3.28] 19 ([La—Fk&EF—T, aE—R#E. X2 TA. A2 | 20,869 50 10,484 0 0 0 0 0 0 0l 10,484 0
HBh— kYD, L)
IR5. 3.31] 20 |sBnEEERE (MEHED GRM) 3. 400 100 3, 400J 0 0 0 0 0 3, 400 0 0 0
|R5. 3.31] 21 |4ABAZRA (3R %) . 1,887 100 1, 887 0 0 0 0 0 1,887 0 0 ol
!R5. 3.14] 22 BRH(EERIFAEEODERSZRE) 7,500( 100 7. 500' 7. 500 0 1] 0 0 0 0 0 0
OI 0 0 0 ¢ [¢] 0 0 0 0
3RE 1, 500, 028 1,379,096] 33,102 0]1, 061,723 0 0| 11,929 27,500 218,442] 26, 400
BEt 5,175, 150 4,006, 133] 470, 424 0]2, 165, 312 0 0| 164, 773| 330, 000] 538, 274| 337,350




